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Q.1) Which of the following is not a criterion for congruence of triangles?
FrofiEd § § SI9-91 Byl &) Fal=rgwar &1 HaId T8 ¢ |
(A) SSS (B) ASA
(C)SAS (D) SSA Ans. (D) SSA

Q.2) AABC = APQR is this congruence of which of the following types can be written?

3Tt H AABC=APQR B | 39 Jaimoyd &1 g & § fodg UeR & forar S 9 @ 2

A

B H Q
(A) ABAC=ARPQ (B) ABAC=AQPR
(C) ABAC=ARQP (D) ABAC=APRQ Ans. (B) ABAC =AQPR
Q.3) In the figure given below, O is the midpoint of AB and CD. Prove that AC=BD.
e &t g3 Srrpfa &, Taraust AB 9uT D &1 9 fag 0 7 | R wifore fas AC=BD.
fam gam- AB qUT CD Y@RISI HTAA fag 0 7 |
AO = OB
CO = 0D
R¥& ®XAT- AC = BD
JUUfi - AAOC TUT ABOD H
AO = 0B {femTmarg)
co = oD {femmg)
£AOC = £BOD { XY@ Hivr)
» AAOC = ABOD {SAS o d)
~AC = BD {FaiTad Byl o T Yolrsfi & 3fadd 3 }
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Q.4) Perpendicular (altitudes) drawn to equal sides, from opposite vertices of an

isosceles triangle are equal.
Ry P - foreht THfgaTg By & T Yorsil IR Ja9 el ¥ Wi T¢ a9
SRR

Q.5) 3ATHA T PX TUT QY TWERITS PQ TR T g TUT PX = QY & | ST fh AX = AY §

g g mar px = Qv
£XPA = £YQA = 90°

R BT ] : AX = AY

AXPA T AYQA H

PX = Qv {fear )

ZXPA = 2YQA = 90° { f&ar mar}

LAXP = £AYQ {TShicR HIUgH }

« AXPA = AYQA { DIV YT HIvT 99 4}

3{d: AX = AY
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